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PN HEX D
M Hx=2E 8
Sl AES I CERED
= d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
202 Od4dl 54,000 44,000 10,000
01 = LH 4 Hl 54,000 44,000 10,000
OQAIZHE S AR 4,000,000& 4,000
OMSIHSHAS(YEHA) 2,000,000& x15H 30,000
OMSHSHAX(Z2RE) 2,000,000& x10H 20,000
207 O] 40,000 0 40,000
01 289 40,000 0 40,000
OZx)| dTEB2l Yo 28 B
40,000,000& =14 40,000
308 XXM SO A 25,257 61,941 N 36,684
113/ 2SHUHSZAEEALS I 25,257 61,941 A 36,684
OEZXNLAMEZAAE SR LE |
8,080,000 » 14l 8,080
OXHU BEEXNLAMNBEAAY 2E 22 Z(
3xH) 17,177,000& 14 17,177
AUWAAEH 24 15,000 15,000 0
303 L&t 3 15,000 15,000 0
01 243 15,000 15,000 0
OBIIDS U DUTRE MAAE
15,000, 000& 14! 15,000
Mo 24 XI& 72,960 72,960 0
307 2201 A 72,960 72,960 0
07 A3 XN=3 72,960 72,960 0
OMZERS 5,220,000& *0.65%20H 67,860
OMotFxSN 5,100,000& »1H 5,100
= 3LHEE 18,440 0 18,440
201 Let24d] 18,440 0 18,440
01 At 22l 12,200 0 12,200
Oz &HIE i & HES MH
2,000,000& 13 2,000
OFQUAAAE X Z2HEIAN =2
30,000 255 x4 3] 3,000
OozgArs 2 N& M 3,000&+600% *42] 7,200
02 =224l 2,400 0 2,400
OZ0AE S5 N8 Y 2HR3
1,000 *600F x4 2 2,400
03 A2 Z Hl 3,840 0 3,840
O=2ltel that &0t AE A4l
8,000& 80 62 3,840
SXAAN 22 2,700 3,000 A 300
< 2,700




SN BEIE D
3 Uxzd 28
ool UEE BN (ol @)
= — = 4 &
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
201 2er= Sl 2,700 3,000 A 300
< 2,700
01 At 2t 2l bl 2,700 3,000 A 300
O2022=XIAH A2 Y2 2,700,000% 14 2,700
S 2,700
T QoA 64,380 62,530 1,850
201 fEt2E | 58,080 56,230 1,850
01 AtR 2t 2l | 18,080 16,230 1,850
Ozgo & MARAS =& 70,0003 14 980
Oz & MAKE HEH 30,0008! ¥50 1,500
Oz0o B3 ¥ I M
1,300,000& *7H £ 2 9,100
Ox=Z¥& M= 2,600& *2,5000H 6,500
03 A2 S HI 40,000 40,000 0
ORMe0F=E Zerzolel o J1E4
40,000,000 * 14 40,000
301 etz 6,300 6,300 0
09 HALAHIXIES 6,300 6,300 0
OAMalt 2a3 1,000,000& x2H 2,000
O3S 243 300,000& 1 300
Oaldz 398 24= 2,000,000& 28 4,000
sgegAd 2,000 2,000 0
201 2Bt2 S| 2,000 2,000 0
03 A2 EHI 2,000 2,000 0
Osgg dAx=a 1,000, 000% 23] 2,000
HESS A A SSANAHEH 29 4,000 4,000 0
201 2erE= 4,000 4,000 0
01 At2 2l 4,000 4,000 0
OMBZZNHASSIAMNE S2SE 72
2,000,000& *23] 4,000
HNEA=sd=X S8 1,991,331 2,036,891 245,560
NS N 136,657 130, 241 6,416
101 124 H] 47,504 43,988 3,516
04 JIZAtNZ22XNSE* 47,504 43,988 3,516
OSSN (E4FIH UM 22 47,504
—JlzEa 73,280 x2H %2002 29,312
— uwSH| 2,000 x2H «200 800
— =244l 4,000 x2E 200 1,600
- 5= 73,2803 x2H x452 6,596
=Ry 73,2803 x2F x9 1,320




A BEXRDY
M Hx=2E 8
o9 NASY=R S CERED
= _ — d =
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
—Hx==g 79,2803 x2H x102! 1,586
— ZE S0t 300,000& x2H *23| 1,200
— 428 = 42,414,0002 *12/100 5,090
201 L2l 67,013 64,113 2,900
01 At 22l 57,213 55,113 2,100
OFJZZ 1=l 405,000& x33H 13,365
OZFARLE R 18,0002 2, 10052 37,800
ONFSHET Y2E IU(ZY)
8,000& x7H 90U 128 6,048
02 =224l 9,800 9,000 800
O3 MUSH(HESEHASH)
9,800,000 » 14l 9,800
202 o4dl 1,140 1,140 0
01 = LH o4 1l 1,140 1,140 0
OHAZE UM A& 20,000 33 13 660
OXJAZE LSH(BE =) A=A 0l
20,0003 »2H 2 63| 480
303 Z& 2 21,000 21,000 0
01 L& = 21,000 21,000 0
OXNEFOIZ2E 2sXNE
500,000& =184 2 & *23l 18,000
OHJAZE HIX A& 3,000,000& =14l 3,000
HdE™ EXHE 22 1,435,200 1,414,400 20,800
201 2Bt | 1,435,200 1,414,400 20,800
04 XEE=SNHE A S ZH 1,435,200 1,414,400 20,800
oW =XME 2¢ 1,380,000& 1,040 1,435,200
EArztel 315,266 391,153 AT5,887
101 @144 dl 151,766 147,433 4,333
04 JI2ZHHZ2XEE+ 151,766 146,833 4,933
OFANEA 212¢ 30,475
—Jl=s 75,8003 x 18 247 18,723
— WSl 2,000 =18 %2472 494
— = Al 4,0003 x 1 +247 988
-5 75,8003 » 1 x522! 3,942
—ResgsE 75,8003 x1H » 13 986
—522RE 122,700 »1Z 1 123
—x=g 81,8003 x1&H %10 818
— ZE S| 300,000& 1 23] 600
—42E=2 26,674,0002 *12/100 3,201
—EAMEL JIZNZZ2X 0= P2
150,000 x4 »1H 600




SN BENAD
?

M Hx=2E 8
ol NASY=X 5 CER-ED
SA - BB B () - MM - BES Ol &t o San HmEET
OBNEL TAANS o120
75,8003 x 1«25 1,895
OFUAE S2A 124 30,392
—Jl=s 78,3703 x 1 197 15,439
- =54 78,3703 x 1«52 4,076
—ResgsE 78,3703 x 1 %13 1,019
—Qx=g 84,3703 x 18«10 844
— WSl 2,0003 x1H 197 394
— =4 4,0003 x 18197 788
— B2 S0td| 300,000& 1 %23 600
—anRE= 26,957,0002 *12/100 3,235
—NERLY
10,5463 1. 55 1H «20A| 2t 128 3,797
— T NS 100,000 »2H x1H 200
OFUalg =cld el 89,004
= 75,8003 x3H » 197 44,798
— T4 75,8003 x3H 52 11,825
-5 +E 75,8003 x3H » 132! 2,957
— QX< 81,8003 x3H 10! 2,454
— WSl 2,0003 x3H 197 1,182
— =2l 4,0003 x3H 197 2,364
— ZE S| 300,000& x3H x23| 1,800
—42E= 26,140,600 3% x12/100 9,411
— A2 ZRE
10,225@ *1.5%3H «20 Al 2t 12 11,043
—X2ld M= 100,000 3¢ x3H 900
— Xol¥ e EE 90,0003 34 270
201 2yt 2 Y| 158,500 174,410 A 15,910
01 At 22l 138,560 154,410 A 15,850
Oagg 2| L (SH H=s8)
10, 000& 5001 13| 500
Oaos I FU(SH HEE)
10, 000& 5001 13| 500
OMsE =& HH
11,2903 3100 A UASH+10H 3,500
O&EAMNEs2al 36,200
— BANLSHI (A5 AAEER)
500,000& x53] 2,500
— D219 e EALS 500,000& x93| 4,500
—&EA2e ABE 7Y 2,083,300& ~12& 25,000
— g3y FFANE 150,000& = 12& 1,800
—gad 37 2Y 300,000 =3MI E 900
—HEsH4d E77¢Y 300,000 =3MI E 900
—gAM FI YdUHE XS 50,0003 12 600
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?

M X228 2
ool NABM=R S CER-ED
S-S (B) - HRAY - BAS O At 0t San H D2
OL==+g(EY) 72,120
— 24X 60,0003 *4H 118 28,320
— =% 60,0003 x2H *365 43,800
OFUAY A2F F2¢ 5,000,000& * 14 5,000
OFANEA EY(2Y, &84 F2FH 5)
15,000,000 =14 15,000
OFUAY 2L MaAS 120,000& =121 & 1,440
OFEAb 23D (0l AtSIELA &2) 2
100,000& =204 2,000
OZU2RAAEY AH SHMMH 2L
1,700,000& * 14 1,700
OFANEA 22X II=s P2
150,000& *4E x1H 600
02 53294l 19,940 20,000 A B0
OFWUZ22AAE SXE 2,175,000& x4 7| 8,700
OFAMEHAH =2 270,000& x12& 3,240
OFAZ2| CCTV A2 4| 2,000,000& * 14 2,000
OFLAY s=23H| 500,000& *123] 6,000
405 XH&HF SHI 5,000 69,310 A64,310
01 At = S F S b 5,000 69,310 AN64,310
OoOZUAY 28 72 5,000
—H&sI 7 5,000,000& = 1CH 5,000
SR s A& 21,400 21,000 400
201 LEt2 Y| 16,400 4,000 12,400
01 At 22l Yl 6,400 4,000 2,400
ONE2ELR2AN AHEY 1,000,000& x4 =2 7| 4,000
OZ22F =X MR4 29H| 200,000& x12& 2,400
03 & AtE L 10,000 0 10,000
O32& L Atstg stots U3
10,000,000 =14 10,000
303 LA = 5,000 5,000 0
01 Za2 5,000 5,000 0
ORI AN S&&X Ast 250,000& *20H 5,000
SR8 s N 27,400 19,350 8,050
201 Bt A | 12,400 10,000 2,400
01 AP 22l Yl 2,400 0 2,400
OR2% =X ARA 29| 200,000& x12& 2,400
03 S AI2 H H 10,000 10,000 0
OZRAL-xX H=EU3 10,000,000& *13] 10,000
303 A2 15,000 5,000 10,000
01 2o 2 15,000 5,000 10,000




SN BENAD
?

M Hx=2E 8
o9 NASY=R S CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OBRALX HdXX A 10,000, 0002 14! 10,000
OSRALAN /38 250,000& »20H 5,000
E=S2c 55,408 60,747 25,339
201 Let249] 5,480 13,180 AT,700
01 At 22l 5,480 13,180 AT7,700
OJIEE Eitaos A
70,0003 x2& #23| 280
OJIga A5 900,000& #2H & 1,800
OJ=sa 28 #¢ 400,000& x53] 2,000
OFE 3 A= 70,0008 +2E+102] 1,400
202 o4dl 4,680 4,680 0
01 = LH 4 Hi 4,680 4,680 0
OJ=g Hal U NE S(5Y)
130,000 3 122 4,680
308 AHAIEHHSOIA 45,248 42,887 2,361
113/ 2SoHUHSBHEAEALS I 45,248 42,887 2,361
OEEIISHANLE S& A2
45,248,000 14 45,248
daZES A2 1,681,677 1,733,849 AB2,172
= 24,725
s 1,656,952
sHYER =& 56,521 53,822 2,699
< 17,833
[ia 38,688
101 Q1 24| 9,867 7,685 2,182
= 1,640
s 8,227
04 JIZHHNZ2Z 2RSS E+ 9,867 7,685 2,182
OAMSHZAL J12EH2 2 Xt 6,272
— &4 ¥ AR R Y
76,0702 *2H 2820 «70/100 2,982
— oo oy
73,2802 #1242 «70/100 1,232
— ALK 2t oY
73,2802 #1282 «70/100 1,437
—-28s 5,649,336& x10.98/100 621
02022 &= A3 = A 3,595
— DA A I F Y 76,070F x2H x21 3,195
= 1,640
= 1,555
— ZAZ2 A BEEZE 3,195,000& x12.5% 400
201 Yet2 2t 46,654 46,137 517
= 16,193
s 30,461




SN BEIE D
M Hx=2E 8
& dAFESA 2L (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 At 22l 46,654 46,137 517
OsAHHB 22t 40,000 100 4,000
OMEH AL E=SHl
73,280 58 262 «70/100 6,669
02022 =S A=A EDN 22t
40,000& *80F 3,200
02022 B=EAM A ZANES 7L
0,000& *20H 400
02022 =AM A &5 ZAHR Q124H| 24,623
— XA 73,280 x18H « 16 21,105
< 10,553
= 10,552
—dAE A 73,2803 x4H 12 3,518
< 1,759
s 1,759
02022 8= A=A ellE 2L
6,000& 8104 4,860
= 2,430
i 2,430
02022 8SAISIZAL HAEE 2
4,000& =184 72
S 36
s 36
02022 BSASIZA ZALE 70
1,000& »2,430% 2,430
< 1,215
s 1,215
02022 &S A EAN EEE SHIHE MH
80,0003 *5H 400
= 200
s 200
HEZHES 2 771,051 795,440 A24,389
201 £B-2%H| 324,501 298,921 25,580
01 At 22l 112,499 108,021 4,478
o=2letg 2ZEHN 7 64,868
— AU A2020 & 2ALA HZ2tAIEEH
84, 150& 2004 16,830
— NSl A GAS HZ2tAIE R 274,500& 17504 48,038
OEUHAZEYNH 2L 25,441
—PCE 24l H2AEH 27,500 »800H 22,000
— ANHE WA HZZLAIE A 430, 1003 *8H 3,441
OcHE AZEYH 2L 8,850
— SHXSEE(CAD) HAAER
550,000& 104 5,500
— MEH T E (Photoshop) H 2ZHALE &
550, 000& =54 2,750




PN HEX D
M Hx=2E 8
& dAFESA 2L (&)
= _ — d =
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
— CI X2 = (ILLUSTRATOR) H2HALE A
600,000& 14 600
OPCXtE HAE2H (HAACHIE) H2HA
22 20,000& 2004 4,000
OWHM PC ¥ HESRIA A2 ¢
20,000& 2004 4,000
O&F=)| gtz 35,000& 128 420
OBHFLISY A2ET SHI(EY)
8,000 «6H 92 «12& 4,320
OMelg22s 288 & 600,000& 12l 600
02 =224l 212,002 190,900 21,102
ogstx(Agdxe) N2
1,500,000& 122 18,000
OARE & F2MAHAZAANAE S E 4|
308,000& 122 3,696
OZQotd Y MAEH =X =Hl
1,400,000& 1228 16,800
Ozttet & JIE2 A3 elol sXE=Hl
1,670,000& =128 20,040
O2utet & JISE2 MWAAAE X EZ==H]
405,000& 123 4,860
O2uet AIAE(HWS) S22
890,000& 83 7,120
OHFEZEEFE UWERI RANE=HI
1,400,000& 128 16,800
OQHYWAIE X ZElAAE A4l
244 500 128 2,934
OYREZFH |FANE=H 1,650,000&«12& 19,800
Ogests KRAE =4l 396,300 102 3,963
O IJtastAH |FXE=H
1,026,000 128 12,312
OUPS(REXMMAEX) 2K E2H]
245,000 128 2,940
OEXJA0A 2elAAE X E=Hl
1,812, 1002 92 16,309
ONMUZBEESAAE SAE 4
333,340 »8& 2,667
OMBEEEIIE2ACALE FXE |
559,700 128 6,717
OQUESRID Ex22AIAE(NAC) 2 X 2=t
580,000& x12& 6,960
ORSUHEHBRANLE RXE 2
1,490,000& 128 17,880
OdetEE ASFEBAAE RXE=H
135,000& 12 1,620
OZE0tE SHOIXN B2
2,000,000 =14 2 2,000




SN BEIE D
M UXZ2E P8
ool MAFBEAE CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@i HRE2
OMSHEIZE EE§20 AlAEH X 8244
120,000 x12& 1,440
Oflotz 8 BtE&s EHO0IX KA E2=H|
2,262,000& 12& 27,144
202 o4 H| 7,800 7,800 0
01 2L I 7,800 7,800 0
OPCEZE L HERZA &Y HH(ZNH)
130, 000& 2 x12& 3,120
OMUEE o BLLor Af HA(EA)
130,000& *3¥H 128 4,680
308 XAHXIEH SO A 106, 150 106, 120 30
11 BIZ2SUHUSHEAEAE A Y| 106, 150 106, 120 30
OXNLHEBESHEAAE HEHAQAD 24
S Xl 22l dl 6,600,000 *13] 6,600
O2LI2tAIAE AdHAOAZR SEXE L AS
SW S X2 =H| 12,900,000& *13] 12,900
OXNXEH 2SIt € MAlS2AIAE S
2l Hl 86,650,000 13| 86,650
405 XHA&HF S HI 332,600 382,599 A 49,999
01 AL 2 FF S| 332,600 382,599 A 49,999
OZEH FU(UAAE) 232,000
— 2 1,200, 000& = 160CH 192,000
— 2L H 250,000 =160CH 40,000
O HAYIIAIAL(IPS) =2
34,000,000 = 1CH 34,000
OgSs SAEd WA 66,600
— NotS EOoHMIE & AHAH|
30,000,000 = 10H 30,000
— HAIRA SOotHIE MAZH|(OHA, A&X,
e 0tg, 23, E&) 6,100,000 «6CH 36,600
ANEdEg 249 2,020 1,820 200
201 2Et2Ay| 2,020 1,820 200
02 B32%H| 2,020 1,820 200
OZHOIX &0 AIE2= 30,000& 9 A 270
OZHOIX 2ot ol=s8 28 SSL AIE=
250,000 =124 250
OZHOIX 2 &AANHA AIE=
125,000& »12& 1,500
HES Ol 29 6,500 6,500 0]
201 et d| 1,500 1,500 0
03 A2 | 1,500 1,500 0
OFES0IE #HAFH 1,500,000 1,500
301 et A =2 2,000 2,000 0




X X2 ot
Axzd 28
ANESE B o)
SA B O(SH) - MEAY - BES of s o e 2
09 HALAHIX A S 2,000 2,000 0
OF=E3s0Ee u=s % 3284 2,000,000& 2,000
307 21201 A 3,000 3,000 0
02 LB AAFEX 3,000 3,000 0
OEsus dAXA 3,000,000& » 14! 3,000
JES02 T )AL s4 43,946 37,718 6,228
< 6,892
s 37,054
307 21201 A 43,946 37,718 6,228
< 6,892
s 37,054
02 IZHE S AHE L 43,946 37,718 6,228
OFEsolg Tz Qg aeli LAY
21,973,000& »2H 43,946
< 6,892
s 37,054
HEHBSAUANE 2 441,639 440,709 930
201 Let24d] 416,763 415,833 930
01 At 22l 10,832 10,232 600
O&EXNSLALZH, SSEH 425 72¢
5,000,000& 5,000
OHNEESMALSY ASEA SYH (5
8,000 x3H 9 «12& 2,592
Osda =g gz 220,000& »12& 2,640
O&F=) gz 50,000 x12& 600
02 2324l 405,931 405,601 330
OZNEFESAY 3HA(Z-5H2Y) ez
4,000,000&x12& 48,000
Oltss2YsMl d83dE(8,H)
25,0003 * 110 2 +12& 3,300
OllESEYs 44| BEsME
7,200 *32104 &+ 128 27,735
OZNFESAANEI LAY AMNE=
416,600& x12& 5,000
OT/02 d83l4d(128ld)A8E
300,000& x12& 3,600
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